
You will need your RED AMBER
GREEN cards for this activity.
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Your task is to identify the correct ratio to use in each
question. Hold up the card that corresponds to that ratio.

Remember:

sin ɵ = opp
hyp cos ɵ = adj

hyp
tan ɵ = opp

adj
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In this problem you would use:

sin

cos

tan

5
10
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θ



In this problem you would use:

sin

cos

tan

5
10
hyp

opp

adj

sin θ = opp
hyp
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θ



In this problem you would use:

sin

cos

tan 7

10
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θ



In this problem you would use:

sin

cos

tan 7

10
hyp

opp

adj

cos θ = adj
hyp
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θ



In this problem you would use:

sin

cos

tan

x

30˚

14
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In this problem you would use:

sin

cos

tan

x

30˚

14
hyp

opp

adj

sin θ = opp
hyp
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In this problem you would use:

sin

cos

tan

x
60˚

7
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In this problem you would use:

sin

cos

tan

x
60˚ hypadj

opp

tan θ = opp
adj

7
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In this problem you would use:

sin

cos

tan 3

5
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θ



In this problem you would use:

sin

cos

tan

hyp

adj

opp

sin θ = opp
hyp

3

5
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θ



In this problem you would use:

sin

cos

tan 1520˚

x
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In this problem you would use:

sin

cos

tan 1520˚ hyp

opp

adj cos θ = adj
hyp

x
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